RATCHAZEFZETHEZER




BT AT TR MR e RN ETS  WIREBE-NEGEEELD—RKABTE —TAHSHY

AN 5 1o B AT HERA A T RE EL IR o X RRRE XK, he > U B] LABONF M se 2B S e
EARKAM P IAIEE VD It 7 28 M i e E R IR HERE B T L 2RB 6
M= LIS AR E B BB N4 o BT E ke

FEHY B I A B RN e H SR E M B
Y I 5K T M Se ko 8 1 18 DR X BYRBURL > B Sk AT LA
AR & B RYFHE I SEENIMN AU EE 6 9KhE > 3%
B I hR I KRR o

A B RBEE/ DEFAKHENFEA ERE RS-
NRISHE —Forh > (G E ZE P LA K —sK KA B

A BIRIF RIS

I Bl E (KLY)
98.23%

RATCHNAERZIEBETREZER



S B AR TR AR A X M et AT E
Rexan X Bk E R R R 251 E T okhE (H
P—IKREEFH L) A ERIKRAVEHITED LUE
MIEFRRFRI A S MR ITRE S LR L
Frhe PR S K — KBRS MR R o

Bt Bl AT R N AR EZ G o

b Al R £ 2 B K —sKkh& » LURIS — K&
IMNEYRER

iR A LU IR L B RhE S A H R AR - 1]
LARZH5R R 2l T 5KhE o

RATCHAZEFZETHEZER



AFATRMHARE S BB R — e A
B AR BB R BRIR AL B TRORER

Sl SEERR we | owe N/A
QD%Iﬁ?K;;%E)H\@;_gﬁgﬁM\EQHE’%B/A%_EK/Z}:/H\:HE EEESSIRIE R AR | (RET I N /A
e e v e G R R Ll N /
ROAHEBE BRMERZRERRILEFE M SEFEEK ) 54 N/A
R B R T A 1R S K S E SR R kB ot
BEEREANE MR RIEE > e Bt g o 5= ) ) N/A
NEHEERNEEELD— AK AaTaEREak, @EARSHRR 11 s N/A
N > = (RaT K EEAAEE S S A RS e, | £
Ijj?y-‘Z*EEﬂE %gg;élgg*%ikﬂ%ﬁE/]HE;E)L}ﬁf’mﬂ]E/]EilﬁHﬁ J«/(rgﬁjj };QHEE—*D*—-—E—';E%'—':{[%%}E;F% T/&HE T/&HE N/A
) N ) N HERESRIE BEEEEE s Ay o =)
MR LI R I B T — K B I AL I
— 3K, SRS HH — BB B Y IS T B ARREAE BB (RIE o i pem 111
> B B IR » S B R o . P
%E_;{é%%ﬁ%ﬁ;eg/ﬁ =/ %ﬁ('fﬁcy_'\)ltm 2 Z—Fﬁ_ﬁ Z—Fﬁ_ﬁ ;I:&HE

MRIEEMAE =5+ AKHE NI UELTA
e NENFERFR RRAE RBIRFRBIR
ljo

R LAESE B e R W M e 2B S 3R BE o 56 — 1
PENE LB I —K BT B —THERIEC

RATCHNAERZIEBETREZER



RATCHNAERZIEBETREZER

100:

50

20

[A{ENR + EAER

i
i

[RI{ENR + [AI1E

[RI{ENR + =

Hm
i

i
i

KEHENR + X+
[AITENR + EAENR
[BI{ENR + [EI1E

[A{ENR + =+

Hm

[BIFENR + XFF
[A{ENR + AK

-+

+ N

1
.I.

Ot

g

R

[
_|_
>
=

.I.
1
.l.

TH
_|_
TH

.I.
1
.I.

.I.

5 + AK

TH

[B{E + MG
[A{E + I+
[Bl{E+XIF 61

[B1E + AK
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N+ + iR+ 8:1
IR+ + XFF 5:1
i+ + AK 5:1
=% +AK 4:1
=Xy 3:1
XY + AK 3:1
XY+ + AK 2:1
X% 1D 53
M 1D 537000
PR a1 1.00 EUR/&= 2,000 EUR
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https://clientarea.evolution.com/ezugi/games/russian-poker/
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